FORM NO. MGT-7A

(vi) Whether the form is filed for

[Pursuant to sub-section(1) of section 92 of the Companies Act, 2013 and sub-rule (1) of rule 11 of the Companies (Management and Administration) Rules, 2014]



Abridged Annual Return for OPCs and Small Companies

	language English Hindi the instruction kit for filing the for	rm.			
I. RE	EGISTRATION AND OTHE	R DETAILS			
(i) * C	orporate Identification Number (0	CIN) of the company	U28920	MH1972PTC015848	Pre-fill
G	ilobal Location Number (GLN) of	the company			
* F	Permanent Account Number (PAN	N) of the company	AAACM	14993P	
(ii) (a) Name of the company		MEVAD	A ENGINEERING WOR	
(b) Registered office address				
	1-9, MISTRY INDUSTRIAL ESTATE, GOREGAON E MUMBAI Maharashtra 400063			Ð	
(c) *email-ID of the company		info@sa	turnvalves.com	
(d) *Telephone number with STD o	code	022425	23200	
(e) Website		www.sa	aturnvalves.com	
(iii)	Date of Incorporation		17/06/1	1972	
(iv)	Type of the Company	Category of the Company		Sub-category of the O	Company
	Private Company	Company limited by sha	ares Indian Non-Gov		ernment company
(v) Wh	ether company is having share c	eapital	Yes (○ No	

○ OPC

Small Company

(vii) *Fina	ancial year Fro	om 01/04/2021		(DD/MM/Y	YYY) To	31/03/2022		(DD/MM/	YYYY)
(viii) *Wh	ether Annual (ـــــــــــ General Meeting	g (AGM) held (not applicable	in case o	of OPC)		I	
) Yes	○ No			
(a) I	f yes, date of <i>i</i>	AGM							
(b) [Oue date of AC	GM [30/09/2022						
	-	xtension for AG	_		○ Ye	es 💿 N	Ю		
II. PRIN	CIPAL BUS	SINESS ACT	IVITIES OF	THE COMP	PANY				
*N	lumber of busi	iness activities	1						
	In a . :	D	A	ID. :	lp.	·	A . ('- ')		10/ 51
S.No	Main Activity group code	Description of N	lain Activity gr	Activity Code	Desci	ription of Busi	ness Activit	y	% of turnover of the company
1	С	Manu	facturing	C13		er manufacturi cal instrument			100
	-	which informa	_			Pre-fill All			
S.No	Name of t	he company	CIN / F	CRN	Asso	ciate/ Joint ve	enture	% of sh	nares held
1									
IV. SHA	L RE CAPIT <i>A</i>	AL, DEBENT	URES AND	OTHER SE	CURITI	ES OF THE	E COMPA	NY	
i) *SHAF	RE CAPITAI	L							
(a) Equit	y share capita	ıl							
	Particula	rs	Authorised capital	Issue capit		Subscribed capital	d Paid l	Jp capital	
Total nur	mber of equity	shares	25,000	24,000	2	24,000	24,000)	
Total am rupees)	ount of equity	shares (in	2,500,000	2,400,000) 2	2,400,000	2,400,	000	
Number	of classes			1					_
	Clas	s of Shares		Authorised	Issue		Subscribed		
Fauity St	nares			capital	capit	iai i	capital	Paid	d Up capital

25,000

24,000

Number of equity shares

24,000

24,000

Nominal value per share (in rupees)	100	100	100	100
Total amount of equity shares (in rupees)	2,500,000	2,400,000	2,400,000	2,400,000

(b) Preference share capital

Particulars	Authorised capital	Issued capital	Subscribed capital	Paid Up capital
Total number of preference shares	0	0	0	0
Total amount of preference shares (in rupees)	0	0	0	0

Number of classes	

Class of Shares	Λ	Issued capital	Subscribed capital	Paid up capital
Number of preference shares				
Nominal value per share (in rupees)				
Total amount of preference shares (in rupees)	0	0		

(c) Unclassified share capital (not applicable for OPC)

Particulars	Authorised Capital
Total amount of unclassified shares	0

(d) Break-up of paid-up share capital (not applicable for OPC)

Class of shares	Number of shares	Total nominal Amount	Total Paid-up amount	Total premium
Equity shares				
At the beginning of the year	24,000	2,400,000	2,400,000	
Increase during the year	0	0	0	0
i. Pubic Issues	0	0	0	0
ii. Rights issue	0	0	0	0
iii. Bonus issue	0	0	0	0
iv. Private Placement/ Preferential allotment	0	0	0	0
v. ESOPs	0	0	0	0
vi. Sweat equity shares allotted	0	0	0	0
vii. Conversion of Preference share	0	0	0	0

		1		
viii. Conversion of Debentures	0	0	0	0
ix. GDRs/ADRs	0	0	0	0
x. Others, specify				
Decrease during the year	0	0	0	0
i. Buy-back of shares	0	0	0	0
ii. Shares forfeited	0	0	0	0
iii. Reduction of share capital	0	0	0	0
iv. Others, specify				
At the end of the year	24,000	2,400,000	2,400,000	
Preference shares				
At the beginning of the year	0	0	0	
Increase during the year	0	0	0	0
i. Issues of shares	0	0	0	0
ii. Re-issue of forfeited shares	0	0	0	0
iii. Others, specify				
Decrease during the year	0	0	0	0
i. Redemption of shares	0	0	0	0
ii. Shares forfeited	0	0	0	0
iii. Reduction of share capital	0	0	0	0
iv. Others, specify				
At the end of the year	0	0	0	

Class of shares			(i)		(ii)		(iii)		
	N. 1 C.1								
Before split /	Number of shares								
Consolidation	Face value per share								
After split /	Number of shares								
Consolidation	Face value per share								
(ii) Details of shares/ first return at any tim									f the
[Details being prov	ided in a CD/Digital Med	lia]		\circ	Yes	O N	o	O Not applicable	
Separate sheet atta	ached for details of trans	sfers		0	Yes	○ N	0		
Note: In case list of trans Media may be shown.	fer exceeds 10, option fo	or submi	ission a	s a separa	te sheet	attachm	ent or :	submission in a CD/	Digital
Date of Previous AG	iM]
Date of Registration	of Transfer								
Type of Transfe	er	1 - E	quity, 2	2- Prefere	ence Sh	ares,3 -	Debei	ntures, 4 - Stock	
Number of Shares/ Dunits Transferred	Debentures/	·		Amount debentu					
Ledger Folio of Tran	sferor								
Transferor's Name									
Surname				Middle	name			First name	
Ledger Folio of Tran	sferee								
Transferee's Name									
	Surname			middle	name			first name	

Date of Registration of Transfer								
Type of Transfer			- Equity,	2- Preference Shares,3 -	Debentures, 4 - Stock			
Number of Shares/ Debentures/ Units Transferred				Amount per Share/ debenture/unit (in Rs.)				
Ledger Folio of Transferor								
Transferor's Name								
	Surr	name		Middle name	First name			
Ledger Folio of Transferee								
Transferee's Name								
	Surr	name		middle name	first name			

(iii) *Debentures (Outstanding as at the end of financial year)

Particulars	Number of units	Nominal value per unit	Total value
Non-convertible debentures	0	0	0
Partly convertible debentures	0	0	0
Fully convertible debentures	0	0	0
Total			0

Details of debentures

Class of Debentures	Outstanding as at the beginning of the year	_	Decrease during the year	Outstanding as at the end of the year
Non-convertible debentures	0	0	0	0
Partly convertible debentures	0	0	0	0
Fully convertible debentures	0	0	0	0

(iv) Securities (other than shares and debentures) (not applicable for OPC)

Type of Securities		Paid up Value of each Unit	Total Paid up Value
Total			

V. *Turnover and net worth of the company (as defined in the Companies Act, 2013)

) T			

143,060,736.55

(ii) Net worth of the Company

48,027,476.76

VI. (a) *SHARE HOLDING PATTERN - Promoters (not applicable for OPC)

S. No.	Category	Equity	Preference

		Number of shares	Percentage	Number of shares	Percentage
1.	Individual/Hindu Undivided Family				
	(i) Indian	24,000	100	0	
	(ii) Non-resident Indian (NRI)	0	0	0	
	(iii) Foreign national (other than NRI)	0	0	0	
2.	Government				
	(i) Central Government	0	0	0	
	(ii) State Government	0	0	0	
	(iii) Government companies	0	0	0	
3.	Insurance companies	0	0	0	
4.	Banks	0	0	0	
5.	Financial institutions	0	0	0	
6.	Foreign institutional investors	0	0	0	
7.	Mutual funds	0	0	0	
8.	Venture capital	0	0	0	
9.	Body corporate (not mentioned above)	0	0	0	
10.	Others	0	0	0	
	Tota	24,000	100		0

Total number of shareholders (promoters)

20						
----	--	--	--	--	--	--

(b) *SHARE HOLDING PATTERN - Public/Other than promoters

S. No.	Category	Equi	ity	Preference	
		Number of shares	Percentage	Number of shares	Percentage
1.	Individual/Hindu Undivided Family				
	(i) Indian	0	0	0	
	(ii) Non-resident Indian (NRI)	0	0	0	
	(iii) Foreign national (other than NRI)	0	0	0	

2.	Government				
	(i) Central Government	0	0	0	
	(ii) State Government	0	0	0	
	(iii) Government companies	0	0	0	
3.	Insurance companies	0	0	0	
4.	Banks	0	0	0	
5.	Financial institutions	0	0	0	
6.	Foreign institutional investors	0	0	0	
7.	Mutual funds	0	0	0	
8.	Venture capital	0	0	0	
9.	Body corporate (not mentioned above)	0	0	0	
10.	Others	0	0	0	
	Total	0	0	0	0

Total number of shareholders (other than promoters)	0
Total number of shareholders (Promoters+Public/ Other than promoters)	20

VII. *NUMBER OF PROMOTERS, MEMBERS, DEBENTURE HOLDERS

Details	At the beginning of the year	At the end of the year
Promoters	20	20
Members (other than promoters)	0	0
Debenture holders	0	0

VIII. *MEETINGS OF MEMBERS/CLASS OF MEMBERS/BOARD/COMMITTEES OF THE BOARD OF DIRECTORS

_	145145550/01 400	· /DEG! !!Q!T!Q!!ED/Q!	DATE TO STREET OF THE STREET	14EETU 00 / / !! !! 6 006
Α.	. MEMBERS/CLASS	3/REQUISITIONED/CI	B/NCLI/COURT CONVENED	MEETINGS (not applicable for OPC

lumber of meetings held	1
lumber of meetings held	1

Type of meeting	Date of meeting	Total Number of Members entitled to attend meeting	Attend	lance
				% of total shareholding
Annual General Meeting	30/11/2021	20	6	67.2

B. BOARD MEETINGS (not applicable for OPC)

*Number of meetings held 6

S. No.	Date of meeting	Total Number of directors as on the date of meeting		Attendance	
			Number of directors attended	% of attendance	
1	01/04/2021	6	6	100	
2	19/07/2021	6	6	100	
3	08/10/2021	6	6	100	
4	02/11/2021	6	6	100	
5	13/12/2021	6	6	100	
6	21/03/2022	6	6	100	

C. *ATTENDANCE OF DIRECTORS (not applicable for OPC)

			В	oard Meeti	ngs	Con	nmittee Me	etings	Whether
S. No.	DIN	Name of the Director	Number of Meetings which	Number of Meetings	of	Number of Meetings which		% of	attended AGM held on
			director was entitled to attend	attended	attendance	director was entitled to attend		attendance	(Y/N/NA)
1	00019171	BABUBHAI NANALAL	6	6	100	0	0	0	
2	00019279	RAMANLAL NANALAL	6	6	100	0	0	0	
3	00019392	RAKESH PURSHOTTA	6	6	100	0	0	0	
4	00019402	JAYANTILAL SOMNAT	6	6	100	0	0	0	
5	00019416	PRAGNESH BABUBHA	6	6	100	0	0	0	
6	07113661	ALPESH BABUBHAI M	6	6	100	0	0	0	
7									
8									

9												
10												
11												
12												
13												
14												
15												
	MUNERATION OF DI Nil er of Managing Director		fors and/o	r Manage	er whose remu	ınerat	tion deta	nils to be e	entered	2		
S. No.	Name	Designation	Gross	salary	Commissio	on		Option/ t equity	Oth	iers	To	
1	BABUBHAI NANAL	Managing Direct	1,604	,160	0			0	()	1,604	,160
2	JAYANTILAL SOM		1,604	,160	0			0	()	1,604	i,160
	Total		3,208	,320	0			0	()	3,208	3,320
3. Numb	er of other directors who	ose remuneration d	etails to b	e entered	d					4		
S. No.	Name	Designation	Gross	salary	Commissio	on		Option/ t equity	Oth	iers	To	tal ount
1	RAMANLAL NANAL	Director	1,591	,776	0			0	()	1,591	,776
2	RAKESH PURSHO	Director	1,462	,800	0			0	()	1,462	2,800
3	PRAGNESH BABUI	Director	1,144	,620	0			0	()	1,144	,620
4	ALPESH BABUBHA	Director	822,	420	0			0	()	822,	420
	Total		5,021	,616	0			0	()	5,021	,616
A. *Wh	nether the company has ovisions of the Companions, give the reasons/obs	made compliances es Act, 2013 during	s and disc				hla	Yes	O No			

XI. PENALTY AND PUNISHMENT - DETAILS THEREOF

Name of the company/ directors/ officers	Name of the court/ concerned Authority	Date of Order	Name of the Act and section under which penalised / punished	Details of penalty/ punishment	Details of appeal (if any) including present status
(B) DETAILS OF CC	MPOUNDING OF C	OFFENCES N	il		
Name of the company/ directors/ officers	Name of the court/ concerned Authority	Date of Order	Name of the Act and section under which offence committed	Particulars of offence	Amount of compounding (in rupees)
oct during the financia c) The company has received a first return ecurities of the compa d) Where the annual received.	I year. not, since the date of in since the date of the any. eturn discloses the fithe excess consists	f the closure of the last the incorporation of the fact that the number of wholly of persons wh	st financial year with re e company, issued any of members, (except in no under second provis	ference to which the I invitation to the publicase of a one person	ith applicable provisions of the ast return was submitted or in ic to subscribe for any company), of the company section (68) of section 2 of
		Decla	nration		
I am authorised by th			01		03/03/2022
in respect of the subj	ect matter of this for	m and matters incider	ntal thereto have been	complied with. I further	
 Whatever is the subject r 	stated in this form a matter of this form ha	nd in the attachments as been suppressed o	s thereto is true, correc or concealed and is as	t and complete and ne per the original record	o information material to ds maintained by the company.
2. All the requi	red attachments hav	ve been completely ar	nd legibly attached to th	nis form.	
Note: Attention is a punishment for frau	Iso drawn to the pr ud, punishment for	ovisions of Section false statement and	447, section 448 and I punishment for false	449 of the Compani e evidence respectiv	es Act, 2013 which provide for ely.
To be digitally sigr	ned by				
Director					
DIN of the director	00	019416			

Attachments		List of attachments
1. List of share holders, debenture holders;	Attach	
2. Approval letter for extension of AGM;	Attach	
3. List of Directors;	Attach	
4. Optional Attachment(s), if any;	Attach	
		Remove Attachment
Modify Check Form	Prescrutiny	Submit

This eForm has been taken on file maintained by the registrar of companies through electronic mode and on the basis of statement of correctness given by the company

_	
Auto-approved By	

Mevada Engineering Works Pvt. Ltd.

ISO 9001 Certified



CIN: U28920MH1972PTC015848

DETAILS OF EQUITY SHARES OF RS.100/- EACH

AS ON 31ST MARCH, 2022

Sr. No.	Name and Address	Father's/ Husband's Name	No. of Equity Shares held	Nominal Value per Equity Share (Amt. in Rs.)	Total Nominal Value of Equity Shares (Amt. in Rs.)
1.	Mr. Babubhai Nanalal Mistry H-2/3, Sunder Sangam Co-op. Hsg. Society Ltd, S. V. Road, Near Dalmia College, Sunder Nagar, Malad West, Mumbai – 400064.	S/o. Mr. Nanalal Mistry	3,300	100	3,30,000/-
2.	Mr. Jayantilal Somnath Mistry A/801, Saptaratna Towers, S. V. Road, Sunder Nagar, R Unit, Malad (West), Mumbai – 400064.	S/o. Mr. Somnath Mistry	3,300	100	3,30,000/-
3.	Mr. Ramanlal Nanalal Mistry Shantivan-1/A/202, Opp. RBI Quarters, Raheja Township, Malad (East), Mumbai – 400097.	S/o. Mr. Nanalal Mistry	3,300	100	3,30,000/-
4.	Mr. Rakesh Purshottam Mistry 243/7, Nitin Niwas, Jawahar Nagar, Road No. 3, Near I. B. Patel School, Motilal Nagar, Mumbai – 400104.	S/o. Mr. Purshottam Mistry	5,925	100	5,92,500/-
5.	Mr. Pragnesh Babubhai Mistry H-2/3, S. V. Road, Sunder Nagar, Near Dalmiya College, Malad West Dely, Mumbai – 400064.	S/o. Mr. Babubhai Mistry	150	100	15,000/-
6.	Mr. Jayesh Babubhai Mistry H-2/3, Sunder Sangam CHS. LTD. S. V. Road, Near Dalmia College, Sunder Nagar, Malad (West), Mumbai – 400064.	S/o. Mr. Babubhai Mistry	150	100	15,000/-

Mevada Engineering Works Pvt.

ISO 9001 Certified

SATURN	®
15,000/-	5
67,500/-	
2,02,500/-	
22,500/-	
22500/-	
1,79,700/-	

					VALVE
7.	Mr. Alpesh Babubhai Mistry H-2/3, Sunder Nagar, S. V. Road, Near Dalmia College, Sunder Nagar, Malad (West), Mumbai – 400064.	S/o. Mr. Babubhai Mistry	150	100	15,000/-
8.	Mr. Chetan Ramanbhai Mistry Shantivan-1, Raheja Township, A- 202, Malad (East), Mumbai – 400097.	S/o. Mr. Ramanbhai Mistry	675	100	67,500/-
9.	Mrs. Gomtiben Ramanbhai Mistry Shantivan-1, Raheja Township, A- 202, Malad (East), Mumbai – 400097.	W/o. Mr. Ramanbhai Mistry	2,025	100	2,02,500/-
10.	Mr. Dharmendra Jayantilal Mistry B305, Kingston Classic CHS Ltd, Chincholi Bunder Road, Malad (West), Mumbai – 400064.	S/o. Mr. Jayantilal Mistry	225	100	22,500/-
11.	Mr. Vipul Jayantilal Mistry A/801, Saptaratna Towers, S. V. Road, Sunder Nagar, R Unit, Malad (West), Mumbai – 400064.	S/o. Mr. Jayantilal Mistry	225	100	22500/-
12.	Mrs. Padmaben Babubhai Mistry H-2/3, Sunder Nagar, S. V. Road, Malad (West), Mumbai - 400064.	W/o. Mr. Babubhai Mistry	1,797	100	1,79,700/-
13.	Mrs. Manjulaben Jayantilal Mistry A/801, Saptaratna Towers, S. V. Road, Sunder Nagar, R Unit, Malad (West), Mumbai – 400064.	W/o. Mr. Jayantilal Mistry	1,800	100	1,80,000/-
14.	Mrs. Archana Pragnesh Mistry H-2/3, Sunder Nagar, S. V. Road, Malad (West), Mumbai – 400064.	W/o. Mr. Pragnesh Mistry	150	100	15,000/-
	<u></u>				

Mevada Engineering Works Pvt. Ltd.

ISO 9001 Certified



					DIMI
15.	Mrs. Jyotsna Dharmendra Mistry B305, Kingston Classic CHS Ltd, Chincholi Bunder Road, Malad (West), Mumbai – 400064.	W/o. Mr. Dharmendra Mistry	225	100	22,500/-
16.	Mrs. Parul Hemant Mewada H-2/3, Sunder Nagar, S. V. Road, Malad (W), Mumbai – 400064.	W/o. Mr. Hemant Mewada	3	100	300/-
17.	Mrs. Tanuja Jayesh Mistry H-2/3, Sunder Nagar, S. V. Road, Malad (W), Mumbai – 400064.	W/o. Mr. Jayesh · Mistry	150	100	15,000/-
18.	Mrs. Priya Alpesh Mistry H-2/3, Sunder Nagar, S. V. Road, Malad (W), Mumbai – 400064.	W/o. Mr. Alpesh Mistry	150	100	15,000/-
19.	Mrs. Seema Rakesh Mistry 243/7, Jawahar Nagar, Road No. 3, Goregaon (West), Mumbai – 400062.	W/o. Mr. Rakesh Mistry	75	100	7,500/-
20.	Mrs. Jagruti Vipul Mistry A/801, Saptaratna Towers, S. V. Road, Sunder Nagar, R Unit, Malad (West), Mumbai – 400064.	W/o. Mr. Vipul Mistry	225	100	22,500/-
	Total		24,000		24,00,000/-

For Mevada Engineering Works Private Limited

De la composition della compos

Babubhai Nanalal Mistry Managing Director DIN: 00019171

STATE OF THE PARTY OF THE PARTY

Jayantilal Somnath Mistry

Managing Director DIN: 00019402

Office & Works:

Unit No.1, Plot No.9, Mistry Industrial Estate, I. B. Patel Road, Goregaon (East), Mumbai - 400 063, Maharashtra, INDIA. Tel.: +91 7304562036 / 37 / 38 /39, +91 22 26859960 • CIN No.: U28920MH1972PTC015848

E-mail: info@saturnvalves.com • Visit: www.saturnvalves.com

Mevada Engineering Works Pvt. Ltd.

ISO 9001 Certified



CIN: U28920MH1972PTC015848

DETAILS OF DIRECTORS AS ON 31ST MARCH, 2022

Sr. No.	DIN	Name and Address	Designation	Date of Appointment
1.	00019171	Mr. Babubhai Nanalal Mistry H-2/3, Sunder Sangam Co-op. Hsg. Society Ltd, S. V. Road, Near Dalmia College, Sunder Nagar, Malad West, Mumbai – 400064.	Managing Director	01/07/1972
2.	00019279	Mr. Ramanlal Nanalal Mistry Shantivan-1/A/202, Opp. RBI Quarters, Raheja Township, Malad (East), Mumbai – 400097.	Director	01/07/1972
3.	00019392	Mr. Rakesh Purshottam Mistry 243/7, Nitin Niwas, Jawahar Nagar, Road No. 3, Near I. B. Patel School, Motilal Nagar, Mumbai – 400104.	Director	01/04/2005
4.	00019402	Mr. Jayantilal Somnath Mistry A/801, Saptaratna Towers, S. V. Road, Sunder Nagar, R Unit, Malad (West), Mumbai – 400064.	Managing Director	01/07/1972
5.	00019416	Mr. Pragnesh Babubhai Mistry H-2/3, S. V. Road, Sunder Nagar, Near Dalmiya College, Malad West Dely, Mumbai – 400064.	Director	01/04/2005
6.	07113661	Mr. Alpesh Babubhai Mistry H-2/3, Sunder Nagar, S. V. Road, Near Dalmia College, Sunder Nagar, Malad (West), Mumbai – 400064.	Director	11/03/2015

For Mevada Engineering Works Private Limited

Gor

Babubhai Nanalal Mistry Managing Director DIN: 00019171 Jayantilal Somnath Mistry

Managing Director DIN: 00019402



Unit No.1, Plot No.9, Mistry Industrial Estate, I. B. Patel Road, Goregaon (East), Mumbai - 400 063, Maharashtra, INDIA, Tel.: +91 7304562036 / 37 / 38 /39, +91 22 26859960 • CIN No.: U28920MH1972PTC015848

E-mail: info@saturnvalves.com • Visit: www.saturnvalves.com